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ENGINEERING & MANAGEMENT EXAMINATIONS, JUNE - 2009

OBJECT ORIENTED PROGRAMMING WITH C++
| SEMESTER - 2

Time : 3 Hours ] o ' " [ Full Marks : 70

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the following : 10x1=10

1 Which of the following operators is used to bind the functions to the claé_s ‘to

which they belong ?
a -~ b)
o ' d)  none of these. ; :]

)  Which of the following étatements is corr,eét ?
a) ‘Désfructors havé a defaulf value
b)  Destructors can take a;guments
c¢)  Destructors dealloéate memory allocated for the object by the constructor

d)  None of these. , ) . E:]

ity In binary operator overloading how many arguments does a member function
take ?

a One : b) Two |
c) Three . d) Four. | E:
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iv) Which ig the default if no access specifier is mentioned ?\
a)  Public b Private
¢}  Protected . d) ~ None of these. o [ ]
V) Al When is the call by reference method used ?
a)  Values of the brigi‘nal vanables are to be chariged '
% b) | Memory needs to be plfop_eﬂy utilized
c)  Both of these

d)- None of these. , : l::)

vi)  All public and protected members of a base class become private members of

the derived class by using which access sp¢ciﬁer ?
B a) Pﬁbu? b Private
ci Protected : d) Noﬁe of these. [:j
vi) Which input function reads a line of text that ends with é new line chargcter ?
ca)  gets() 'b)  getline ()
o tnline 0 | - 'd)  none of these. ]
vitj Which operator of the following cannot be 6verloaded ?
a | b ] | ‘

g > | a9

|
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| ix) Which events occur duﬁng early binding ?
a)  Run-time polymorphlsrp b)k' | Corhplle time polymorphism
’ )  Both of these . d  None of tﬁese. ]
%) A pure virtual function is a virtual function with whlcﬁ of the following ?
a) C_qmplex coﬂs&ucm 5) No body
c¢) No Syntax Error ' d) None of these. [:j
xd) Whiéh operator frees merﬁory previously,allocaféa using new ?
a) Free . | . b) | Malloc
¢ Delete d)  None of these. . ]
xij Which of the follovﬁng statements is incorrect ?

a)  Exceptions are errors that occur at compile-time

b)  Exception is caught using Catch

c)  The Catch block must immediately following the try block

d}  None of these.

‘ GROiUP -B
( Short Answer Type Questions )

Answer any three of the following.-

2. Explain tempiate With an example.

3. a)r

b)

| When do you déclare a member of a class static ?

What do you mean by manipulatoré in C*+ ? Give some examples.

| 2365 (13/06)]

3x5=15

2+3



CS/MCA/SEM-2/MCA-205/09 6 | @

4.

a)

. b)

- a)

b)

What is a parameterized constructor ?
Is it mandatory to use constructors in a class ? 3+2

What do you mean by copy constructor ? Illustrate with proper example.

Why is it necessary to overload an operator ? ' 3+2

What is a friend function ? “Use of friend function and encapsulation are

contradictory” — comment crltically 7 ' 2+3
GROUP - C
( Long Answer Type Questions )
. Answer any three of the following. 3x15=45
a) What is inheritance ? Mention some advantages of inheritance.
b) - Describe different types of inheritance with examples.
c) Explain some characteristics of object oriented programming. 3+8+4
a) ~ What is virtual base class ? When and why is it required to inherit a base class
. as virtual ? ’
b)  Write a program in C** to show the implementation of virtual base class.
¢)  Write a program in C++ to pass arguments to the constructor of a base class
from the constructor of the derived class.
d)  Why is reference of an object used in copy constructor ? 4+6+3+2
a)  Write a program in C** to delete a student record from a student's database and
display the remaining records using file handling.
b}  What is Exception handling ? What is the usefulness of exceptibn handling ?

Explain the same citing a suitable example. 8+7
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10. a) Differentiate the ‘foﬁ‘owi‘x:g' :
1) | inhne function and macro
i) friend and member function.
b) Whatisa mns@ctor ? Explain different types of constructor with example.
c) . What is the‘ advantage of usér-deﬂned copy constructor over default copy
constructor ? : L | 6+7+2
11. Write short notes on any three from the following : 3 x5
a) Namespaée :
b) Explicit
0 Mu»ta»ble‘ |
d) Opc‘i'ator‘ overloading.
END
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